LONG MULTIPLICATION

2-DIGIT BY 2-DIGIT
WORKSHEET - 7

82 97 39 85

x 35 x 68 x 18 x 44

410 776 312 340

+ 2460 + 5820 + 390 + 3400
= 2870 = 6596 = 702 = 3740
62 80 92 64

x 59 x 43 x 18 x 12

558 240 736 128

+ 3100 + 3200 + 920 + 640
= 3658 = 3440 = 1656 = 768
78 46 37 22

x 41 x 82 x 26 x 90

78 92 222 0

+ 3120 + 3680 + 740 + 1980
= 3198 = 3772 = 962 = 1980
35 72 99 73

x 16 x 25 x 49 x 28

210 360 891 584

+ 350 + 1440 + 3960 + 1460
= 560 = 1800 = 4851 = 2044
71 84 52 74

x 53 x 95 x 74 x 68

213 420 208 592

+ 3550 + 7560 + 3640 + 4440
= 3763 = 7980 = 3848 = 5032
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